
SAP ABAP table OIO_CM_OPLNT {Plants relevant to RLM}

OIO_CM_OPLNT

MANDT [CLNT (3)]

WERKS [CHAR (4)]

RESWK [CHAR (4)]

SPROC [CHAR (4)]

LADGR [CHAR (4)]

LGORT [CHAR (4)]

OIO_CM_SPROC

MANDT [CLNT (3)]

SPROC [CHAR (4)]

 OIO_CM_OPLNT-SPROC = OIO_CM_SPROC-SPROC 
0..N

{0,1}

T000

MANDT [CLNT (3)] OIO_CM_OPLNT-MANDT = T000-MANDT 0..N

1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 OIO_CM_OPLNT-LGORT = T001L-LGORT 
0..N

{0,1}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIO_CM_OPLNT-RESWK = T001W-WERKS 

0..N

{0,1}

 OIO_CM_OPLNT-WERKS = T001W-WERKS 

0..N

1

TLGR

MANDT [CLNT (3)]

LADGR [CHAR (4)]

 OIO_CM_OPLNT-LADGR = TLGR-LADGR 

0..N

{0,1}


